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Decision Tree: The Obama-Clinton Divide

In the nominating Is a county
contests so far, Senator more than
Barack Obama has won the 20 percent black?
wvast majority of counties l
with large black or highly
educated populations. NO There are not YES This county
Senator Hillary Rodham many African- has a large
Clinton has a commanding Americans in this Alrican-American
lead in less-educated county population.

counties dominated by
whites. Follow the arrows
for a more detailed split.

And is the high school

graduation rate higher
than 78 percent? @
1 i

= MO This is a county  YES Thisis a g:.el'sr:i:::fles
= with less-educated  county with morg
volers, educated voters 383 ka8
And is the high school
Clinton wins graduation rate higher
these counties than 87 percent?
704 to 89. 1

NO 78 1o 87 YES Thisis a

percent have  highly educated
a diploma. county. i

Obama wins
these counties
185 to 36.

And where is the county?
Mortheast or South 1 West or Midwast

In 2000, were many
Clinton wins households poor?
these counties 1
182 to 79.

YES At least NO Al least
47% garned 53% earned
less than mora than
$30.000 $30,000.

Clinton wins . "
these counties What's the population

52 to 25. density?

—

Very =815
rural people i

q.
mile Obama wins

In 2004, did Bush beat Kerry badly? these countles

{by more than 16.5 percentage points) 201 to 83.

Note. Chart excludes Florida
and Michigan, County-leves
results are not available in Very
Alaska, Hawali 5 R

: . . -apub-
Nebraska, Maw Mexico, Norih Ip X ‘

: 1an

Dakota or Maine. Texas Clint i ob i
countss ara included bweoe; on wins ama wins
ance for primary voters and these counties these counties
ance for Gaucus parlicipants. 48 to 13. 56 to 35.

i i fr o " WP ARANDN OO0
Sources: Election results wia The Assoclated Press: Cansus Bureaw; Dave Laips Allas of LLS. Presidential Elections THE MEW YORK TIMES
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Load to create new
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model names regressiontree
7.521 12.625 ;
Marke 7.531 12.625 1
7.536 31.355932203 22
Abc Automatic V| 7.541 31.355932203 33
& s e 7.551 31.355932203 58
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fit = rpart(Mpo ~ Acceleration + Cylinders + Displacement + Horsepower + Make + Model.Year+ Origin + Weight,

nethod="anova",

data.frame (Mpg = .argl,

.argl,

Cylinders=factor(.arg3), Displacement =.argd, Horsepower =.argh, Make=factor(.argé), Model.Year = factor(.arg7), Crigin = factor(.argl), Weight = .argl)):
t(data.frame(predict (prune(fit,0.028), type = "wvector")))[L,1',

LVG([Mpgl) ,AVG([Acceleration]), AVE([Cylindera])  AVG{[Displacement]) AVG({[Horzepower]) ,ATTR([Make]), AVE([Model Year]),ATTR([Origin]),AVG([Weight]))
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Cylinders=ade
I
Displacement==284 5 WeightF=2217
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SCRIFT STE('library(rpart);mastree = randomForest (Type ~ CACH+CHMAX+CHMIN+MMAX+MMIN+MYCT+PRE,
data.frame (Tyvpe = .argl,

.argz,

.arg3d,

.arg4,
.arg5h,
.argé,

MY¥CT= .arg7,PRP = .arg8)):

io<-predict (mastree, type = "prob"):
colnames (io) [apply(io, l,which.max)]",

ATTR([TIypel]) AVG( [CACH]),AVG([CEMAX] ),AVG([CHEMIN] ) ,AVG([MMAX] },AVG([MMIN] },AVG{[MYCT]}),AVG([PRF] })
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